Hello, thank you so much, in these pictures the stone should be white (diamond) and also we would need a silver variation with a white stone (diamond) 
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For this design - 1. the chain scale is not right, it should be bigger (check with the psd file I attached), 2. the clasp should be more narrow, it should match the width of the one with the diamonds 3. FOR THE VERSIONS WITH THE WHITE DIAMOND- this is the back of the diamond, so it should not look like the front 
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this is the reference for the chain scale and the width of the clasp 

For this design, 1. the chain should be higher 2. the scale of the chain is not right, it should be a bit smaller. The chain placement and size should be like in this reference: 
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For this design 1. The chain should be bigger 2. The clasp should be wider. This is the picture for clasp width and chain scale 
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